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eint c[3]={1,2,3};
c[O]=1; c[1]=2; c[2]=3;

qar X:8]={‘H”‘O”‘S’,‘e”‘i’,‘¥0’};
nar x[8]=“Hosei”;
nar x[]="Hosel";
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INt main(){

nar X[8];

OI=HS  NULLXXF'¥0'(F50): 30 51 K it 0 ]
1]='0;

21=S5 | XFIEMNT B & EEWsE/E S
- -=Iel;

- -=Iil;

5]="¥07

printf("%s¥n" x);

return O;
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int main(){
int nO, n1, n2, n3, ..., Nn25;
NnO0=nl1=n2= ... =n25=36D5;
printf("%d¥n",n0);
as]:io
printf("%d¥n",n25);
return O;

}

int main(){
int Nn[26],i;
for(i=0; i<26; ++i){
n[i]=365;
}
for(i=0; i<26; ++i){
printf("%d¥n",n[i]);
}

return O;
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#define XFAI1 XF352
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#define LOWER 12

#define UPPER 348

KB EMIMDEHEXRANT H-HICAXFTECLEL
LY. BRSO RSN TSR EEMZANSEETES
B~ o0

#define square(x) x*x // X

square(1+2) —» 1+2*1+2=5

IELLIE  #define square(x) ((x)*(x)) //O
square(1+2) — ((1+2)*(1+2))=9
J0yyEE-f-</0

#define swap(t,x,y) {t tmp; tmp=x; x=y; y=tmp:]
swap(int,i,j);
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#include<stdio.h>
#define AN 26 //ANIEArrayNumber® &

Int main(){
Int N[AN],i;
for(i=0; i<AN; ++i){
n[i]=36Db;
}
for(i=0; i<AN; ++i){
printf("%d¥n",n[i]);
}

return O;
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#include<stdio.h>
#define N 15
Int main(){
int I,tmp,n[N];
for(i=0;i<N; i++){
n[i]=i;

}

for(i=0;i<N/2;i++){ Xtmp &

tmp=nli}; temporary D& T

[i]=n[N-1-i; BV s i
n[N-1-i]=tmp; RRECOR

}

for(i=0;i<N;i++){
printf(“%d¥n” n[i]);

}

rerurn O:
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#include<stdio.nh>
Int nijo(int x){
Inty = X*X;
returny;

}

Int main(){
Int b,a = 4;
b = nijo(a);
printf(“%d*%d = %d¥n",a,a,b); YA S b
return O;
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#include<stdio.h>

void nijop(int x){

inty = x*x;
PIIMAT IR el )

}

Int main(){
inta = 4;

nijop(a);
return O;
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#include<stdio.h>

#include<stdio.h> int nijo(int p);// 70 b2« 7EE

Int main(){
Int nijo(int Xx){ intb,a = 4:
inty = x*x; b = nijo(a);

returny; printf(“b = %d¥n”,b);
) return O;

int main(){ I
intbh.a=4: Int nljo_(lnt X){
> = ijoe) A
printf(“b = %d¥n",b); ! ’
return O;
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#include <stdio.h> LTOIZIBEXETHAT S

void countd(int); EERY
int main(){

Int X;

printf("BE 7A%L:");
scanf("%d",&x);
countd(x);

return O;

}

void Cogntd(int n){ OB DR T & 14
e Szi{ntf("%d¥n",n); Oc c THURMMNTUL
countd(n-1); SNAERALENDESLT 5]
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#include <f2ZEA YA >
#include “BYEANYA”
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<stdio.h>:$Z#E AL
I71)

i 71 B8 %% (scanf,printf,getchar)
LTt AR (fopen,fclose)

<stdlib.h>: S¢{LLEL 05 & R B8 %% (rand,srand)

#31E Z #1 B8 #4 (atoi)
<math.h>: E{ilTB8 %% (sqrt,cos,sin,tan)
<ctype.h>: X Fi& 5 FHRI ¥ (isdigit,isspace)
<string.h>: X F | {=4EIZB8 9 SR8 %(strcpy,strien)
<time.h>: FFfEZ k2 1-6H D EH L (time)
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#include<stdio.h>

int sum(int english, int japanese, int math, int science, int society);

Int main(){
int english,japanese,math,science,society;

scanf(“%d”,&english);
scanf(“%d”,&japanese);

scanf(“%d”,&science);

(

(
scanf(“%d”,&math);

(
scanf(“%d”,&society);

printf(“5Z L M & 51 & %d & ¥n”,sum(english,japanese,math,science,society)
return O;

}

int sum(int english, int japanese, int math, int science, int society){
Int sum=english+japanese+math+science+society;
return sum;
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ANDT—A struct Person{
-2 Bl] char name[20];
- 4F B4 Int age,;

3= Int height;

V.= Int weight;

} 1
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struct Person{
char name[20];
Int age;

Int height;

Int weight;

I

Int main(){
Person okuda;
kuda.name[20];
kuda.age = 19;

kuda.weight = 56;
return O;

kuda.height = 171;
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INt main(){
Person suzuki ={“85K”,18,150,49};
Person family[3]={

{(“&",50,170,66}, ORIk £ T8

(“B”,47,140,47}, EBTLEDIC
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Person miyazaki = family[O];
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